0]0)*

200 142 w8 () w9 (@ %9 (1) [
®8 (8) w9 (@) w9 (1) [g
W8 (€) ¥y (2) exwrR (1) B OoIx¥Eyr® I OwMHO

® %
&)
(€)
OF - 5% %)
@)
v H OF - 42 %)
@)
®
(257 ¥ (1) n
ylnE W) | (6)
© 8) @
(9) (s)
() )
OF - X @) (1 .
L
(2)
(1) n

CE R OTNMEE R VUL NI NN TE % SIEIH S H (0 2 3%

OEXO FE8THA  ([15E) Wkt E o L

D3-28-1



Jtohda 1

P S AR (G 11)

284

¥ ZORERAUTI49% IR L w272 s, EPRICRD £,

O
5
=
&

Part 1

1 2 3 5
Part2
1 2
4 5
1 2
4 5
1
2
3
4
5
an : ; E
sl 2 ; |
@ 1| We the problem.
2
3 ?
4
5 ?
6
G P2 3 - - -
14 fi5 6 7
1 2 3 P4 5
[#6 f#7 [H18
O =0 Z14x%10 B1EX5 B2mx5(2%) [ &2AX%5
F2E x4  [6] B2mX6
F3EXT
£3m X8 EH100&

100

D3-28-2




B Q-

OHEES ERSSHT H DR (IR — )

X1 QEKE N R UEK O L HSK U S S A
[:} i 1 . -

ER) =H 521

= f=3

- N
=K

8

Ep EEE ]

=
ik
@

10

20

gl
g
mE
EH:I’ il | m O
B LS =R
[ . o
@ @
® 2 FORYS
o )

B iEX W0
[ =i -%EE dwExN T JIoiEX N
[ dpeEx2 RS

OR®O [IJ Bl -EP-TER yEeoiExe I 0 (iR

100

D3-28-3



0]0)*

00 142 w8 (€) Y. (@ %S (1) [
w8 (€) Y. (@ %9 (1) [E
w8 (€) . (@) wS (L) [ OlxyvE [ O¥ ®O
£ £
(€)
©)
e HY%)
(2)
) Fa AT
(@)
® (1) .
Z
@ @ | (6)
(€) (8) (L)
(9) (5)
(¥) (€)
OF - HYE) @ (1 n
(@)
(1) n

OmlgO

C6E G RIINME 3> YA NIET % 68T T H EH D D %
IA8Ta L (HTsh) Wb Yy

D3-28-4



5
et
&

Wi Erseh (2 SERSMERE &

¥ OEHAMITI49%B IR L T2 &, EYRICARD £9,

Part 1

1 2 3 4 5

Part 2

1 2 3 4 5
5)

—
)
w
S

4 learn about the world.

i1 iz 3 4

5 fH16 7

i1 2 i3 P4 f15

16 7

Of&O B145Hx%10 f1HX5 gomx5(58%) [4 &2#EX%5
Bo2HE X4 [6] &2&HX%X6
Bi1~f4 B3Ex4  [5~R7 &4EX3

B3R XT 1002

(@] N o] [=]

100

D3-28-5




SRS IR (8 D)

K QEUERE — o

B Q-

SR UEK O L0500 R U S A

B
EE i
B &
=< 5
ER
B+ - - -
E' = = =
_
EE
o7 EK
Y S
=R 3
@ ) ® © © o
; - o o 0
O % lﬂé O m El 'E'P .P(ﬂ(")lﬂéxw EH .D(I:[v—lﬂéxﬂ' EH' @J'UE o
B o~ x o (ST {RKI) 9
(] B~ EW o ERC-ER MoExa @ fsiEX®
] drovEx i O 4

D3-28-6




